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The figures in the margin indicate
Jull marks Jor the questions,

Answer either e nglindi or 1y Assamese,

Answer the following questions - (any seven)
Ix7=7

el SPERE TR B 2 (R ArSh)

1) Write an example of a solution of liquid
in gas.

(CRIY it (O[] ‘Rjﬁﬁimgﬂﬁﬁrwq G
() What 15 reduced phase rule ?
T T I | O

Contd,




(i) Whatis equivalent conductivily 3 (viii) Which of the following protcins
o transports oxygen in our body ?
weE off<aifiae e
bl R (<G!St e SR e a2

1) lxpres Daniell cell.
(i) lxpress a Da o

(o afeltler (TE 0T S I

(b) Nuclcoprotein
(v) Arianpe the following in order of

et ity (c) Haemoglobin

eqtpol 4l @b A0l e (@) Insulin

ClCH,COOH, CHLCTCOOH, ClL,CCOOH (ix) Glycine when heated alone gives
(1) Anthne reacts with bronume witter 1o give £2ne Teg TRE 5

afuel SAiT14 wo7s @l R FE = (a) methylamine

{a) o-nitroaniline (b) 2-amino ethanol

(b) m-nitroaniline (c¢) diketopiperazine

(c) p-nitroaniline (d) zwetterion

) trosunlme .
(d) 2,4 ditr (x) Carbohydrates arc characterised by the
presence of

TEE T (ISR TR 2 eideE
T LA .l(" (l " r L ~ -

wcid (Bilfhl (o Sla 7fear e o3

fa) Benzene dizonium fluoroborate

(rn) Winch ol the followmy, dinzomium salts

15 most stable ?

(@) OH group
(b) >C =0 group
(c) Asymmetric carbon

(d} All of the above

(b) Benzene dizonium chlonde
(c) Ahphati drzonum salt

{d) None ol the above
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5. Answer the following queslions . (any four)
Ix4=8

e s Tes Tl ¢ (Rt BIf<on)

(i) Distinguish between ideal solution and
non-ideal solution.
] 7 o S 73S e Rl

(i) State and explain phase rule.
w2 oo (ol fon 12 GO

(i) The conduieivity ot 0 2 M solution of KCI

ar 2ONK s 0 O S em boCaboudnte 1ts

molar conductivity
nQ8K Tamele KC1, (0 LA bl ISl
0.0248 Scm b aray 2nle (ull il wilcifoed .r'riciﬁ.if
=) |

fiv) Distinguish between reversible cell and
irreversible cell.
TS (VT S UGS (aE ot il |

(v) Explain, why carboxylic acids have
higher boiling, point than corresponding

alcohols.
@l Al i GRS LRt <

gl o 4o bage oyt T e
Rl )] \I‘ﬁ LA 'l";'-l‘.‘ Pl :JH ¢<“!

3Sem A/CHCNICHY TNV,

(vi) Explain, aniline is a weaker basc than
ethyl amine.

fan ——r
SR, BT ARIBS T ey e | I |
(viij) How are amino acids rclated to protein ?
afiw 57 & Wiz 25 aaie FooiFo

fviti) Justify the formation of osazone from
glucose and fructose.

T TR T 9G] QT R TRE I
==

3. Answer the following questions : {any three)
5x3=15
woie 2 alaie L w9 2 (Farear fefan)
i)y fri) Whati1s CST?
CST 31w &
{b) State and explain Raoult’s law.
T5% HT T S 2Ry o1
fc) Decfine with example about
azeotropic mixture.
LHFET G Bmas TR FR

1+2+2=5
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fi) ()
(b)
i) {r1)

Define phase, components and
degree of freedom.

o], T O o Wl A [ R
Gl

Find the number of components
and number of phases in the
following equilibria and evaluate
the degree of freedom :

woe RIEAIGR = SR TR, TR
Fey] S TeE S el 4 8

W, (g)+ 0, (g) = 2NO(g)
3+2=5

The resistance of a O.1M golution
ol i eled frolyte 15 600 0t 300K The

dimensions of cach clectiode m the
cell e O Hbem <1 bem and the
hstanee bhetween thentas Tom,

Caleulate the following — cell

constant, conductivity and molar
conductivity of the solution

300K 0.1 M ReRnas wa «oR [
600, (F1Fe favie H1F [ulFE wial
0.85cm * 1.4cm i FESIIREE 1om.
4% TEEE (HiRil A4, izl
et wAfdifeel fosy S|
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{b) Conductivity decreases but molar
f:onductivity of strong electrolytes
mncreases on dilution. Explain.

ToTe, S fRijeRos gom »ifRaifes w
faw e sifsiizet 2w | 3 <=
3+2=5

fiv)] {a) How can you determinc pH using
hydrogen electrode ?

PEW G SFEF W LA IR pH e
@ <Hfaqly

(b)  What types of information may get
by clectrochemaical series ?

i Apirifrs eFoifeta vl (@ 410

22§ i ifa 2
3+2=5
(v} (1} Write Perkin’s reaction with
cexample.
GHIZACEITR (S AATafdem [Rimms! v |
(b) Write the products of the following
reaction :
R oemm R

OH
@: ~ CH3COOCOCH, - 125% _,
NO, '

3+2=5
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(vi) f{a} Arrange the following in decreasing

(b)

(it} {a)

(b)

(viii) ()

order of basicity :
IS 4513 ZPTIN TS FEHE
N,N-dimethyl aniline, aniline,
ammonia, ethylamine, p-nitroaniline
Write with an example of
Sandmeyer reaction.

CREITA (108 (eI ffemaiidt forai |
2+3=5

What kind of bonding is responsible
lot tettiary structare of protein ?
biAiball lGei sldere [ 2T T T&
[

Write brietly on general properties
of proteins

2fbem ArRe @i BETR B
2+3=5

Write the main classes of

carbohydrates with example.
THIZAEAE TS K F20E0R To (RTHYE
GEIN
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(b} Classify the following into reducing

and non-reducing sugars :

Eﬁ@ﬁ@ﬂﬁﬁ?ﬁﬁﬂ@ﬁEWQWﬁﬁﬂﬁﬁﬁ$ﬂ
TRBIC= (=) o o ¢

Fructose, maltose, Iactose, sucrose,
starch, glucose, cellulose.

312=5

4. Answer the following questions - (any three)

10x3=30

R HAH R BRSPS P LT { ﬁﬁfc’-‘ﬁ fwﬁﬁ?)

1 ()

(b)

3 {Sem-4/CBCSI CliL. lIG/RC/G ©

[Explain liquid composition curve
and vapour composition curve from
lever rule.,

(i S e Y B & @4 (5151
UG (R AFOR AT 1 |

State and explain Nernst
distribution Jaw. Write the
conditions for applicability of the
law,

mﬁﬁ%mwﬁ%%mm@@wwmnﬁ
fafem e vz fvan
5+5=10
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(i) (a) Write short note on:
Clausius-Clapeyron equation
Or

Phase diagram of one component
system

SaCoIE e ¢
it @R A

a
el (4] 3 O GIEEIET

Dencnihe phase diagram: of water

(h)
syslem
Water systen 4 #k1z fb4 wfet A<l Al |
5+5=10
i ive the luctivity at infinite
fi) (@) Derive the conduc
t dilution by applying Kohlrausch
law.
F7qehe Mo wldige S AITIC
AfaaifEet Fefa wa
(b} Write short note on .
RO NGRIE

Transport number and

conductomette {iftation
5+5=10

3 {Sern—4/CBCS] CHE NG/ 1/G - 10

(iv) (a) Write shortly :

(b)

(d)

pioes fovall ¢

Standard hvdrogen clectiode and

redox titration

Derve Nernst cquation for

measutimyg KM of the cell.

bl Muis (hiag EMF e e artes
St leiehl Tepear)

Write the half cell reactions for
clectrochemical cell involving the

following cell reaction -

el e RiwFasrs weafbe e ammfie
(YO SE AT Rifemes B

Hy(g)-Cu?™ = Culs)- 28 -

Write the applications of electrolysis

in industrial purpose.

rel (FS Ryye Rearaer avasi T

@ fereli |
4+2+2+2=10
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(v) (&) Identify A, Band C in the following

@
CH, ¢ o
(b)
{c)
(vi) ()

reaction :
or RfEEioR o[l A, B 9@ C bile
&4 3

Nily NIy
Ca(OH), o Hedt ,p_ =7 5C

Prepare the following :
ool e TrenirAr 2T T 8
wnone from acetic acid and

Acetopt
ethyl acetate from ethyl alcohol

xplam, why acetyl ehlortde gives

nucleophilic substitution reactions

more casity than ethyl chloride.

ST A, ZUNER TIBTS (T ATECE

gN Rl ki FfEq A, P =9
3+4+3=10

What happens when aniline 18
treated with benzoyl chloride and

NaOH?
QA AT (@AREEE FARE T TR
wrwea e e we
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(b)

()

(d)

(vii} {a)

(b)

Complete the reaction

bt b ateng s o g

oL H N ' >, HyOH

Write the Hinsberg test for
distinguish 1° amine, 2° amine and
3% amine.

1 @3, 2° T S 3° G <K
q@RTe feregista ~f P i |

Give the mechanism of coupling of
diazonium salt with phenaol

& R A A e R Y YR TI B AR A R O
il ettn b aaglender Tt

2H284+2=10
Synthesize the following :
©ETS AN FREe < ¢
Ethyl chloride to aniline and acetic
acid to glycine
What do yvou mean by zwitterionic
property of an amino acid ?

afier” 4fbws gEoRERRE = 9
g ¢
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(c)

()

(viii) (a)

(b)

Justify the structural relationship
of amino acids, peptides and

proteins.
Gt Gfow, (o19(512% R 2tfbra siom T=eika
e frm |

Write the principle that can be
appliecd for the separation of a

tuxttne of amimo acid,

afulel” @ftsel fo1 41 anl 20 SR
el (i '”j"}f_lif i(.'[‘-?“ |
44+24+2+2=10

Convert the following :
TETS TR 1l 2 41 ¢

Fructose into glucose and

glucose into fructose
Explain the following :
RIRGE RS 8

Glucose does not react with
NaHSO,.

e NaHSO, S wise i 1t |
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D-glucose and L-glucose give the
same dicarboxylic acid on
oxidation,

S 719 D-glucose 1% L-glucose (¥
AT 4T TR @few oives |

Sucrose does not show
mutarotation.

B (G TSI (o] (w7)elf7 |

o o
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